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BIOLOGY MDCAT

UNIT-7 (A+ Series)
TOPIC:
v Lite Processes in Animals and Plants (Transpert, Immunity)
Q.1 The cnsparian strips are present at the level of:
A. Cortex 1. Endodermis
C. Pencyele . Phloem
Q.2 Cvtoplasmic strands through which sucrose enters sleve elements are:
A Plasmasdesmata B, Gap junctions
C. Plasmalemma D. Pericycle

Q.3 Root hairs can absorb water only it oo ple sev il Jw
A. Soil is excessive salty - Halep »j; 1 B Concentration of
C. Plants are not transpiring D. Soil is rich in
Q4 “I'he one which thoroughly explains ascent of sap is:

A. Capillary force theory B. Atmospheric press
(. Pressure flow theory \___Dsw
Q.5 The root hairs arise from:
A. Pericyele So¢ il wdl ¢ e mlress, §
C. Endodermis « D Epi
Q.6 Movement of water through cytoplasmic connections
A. Apoplast pathway ~B. Symplast path
| £ Vacuolar pathway :
Q.7 Loading of sucrose from bundle cell is done by
' A Diffusion
C. Facilitated diffusion
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pathway.
A Apoplast B. Vacuolar
C. Symplast D. Protoplast
1% Uptake of water and increase of cell volume without diluting its contents v
A Transpiration pull . B. Root pressure
C. Imbibition g D. Cobesion
Q.19 10 s the most widely sceepted thury of carbohydrate transloca
A Root pressure theory B. TACT theory
€. Mass flow theory D. Osmotic theory
Q.20 Thughhunhnhvm-ymhhmmum.
due to:

A Stnations BT
C. Multiple nuclei D. Sm
Which one of the following pairs of terms represent one and
A. Plasma - Blood H-AV fe -

C. Granulocytes — Monocytes
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0.49

Q.50

Q.52

Q.53

Q.54

Q55

Q.56

Q.57

_.ATo secrete antibodies
C. To kill cells infected wi

>
Active immunity can be produced by the injection of:
A. Antibiotics B. Blood plasma
C. Antibodies >y g D. Antigen : L 3
Which of the following is the component of second line defense? = 71 | PN
A. Skin only B. Blood clot
C. Mucous membrane P Phagocytes
In human beings, ‘B’ and T-lymphocytes are matured in and
, respectively.
A. Bone marrow, thymus gland B. Bursa of fabriciusgthymus
C. Spleen, thymus gland D. Adenoids, Bursa of fabricius

An antibody molecule consists of two heavy and two light chains. These chains are
held together by disulphide bridges. The number of disulphide bridges present

between two light chains is/are:

A0 B.2

c.3 D.4

A typical antibody molecule is and in nature.

A. X-shaped, globular protein B. J-shaped, fibrous protein

C. Y-shaped, globular protein Y-shaped, fibros protein r
Which one of the following are called Nadwed K i

A. B-lymphocytes Ly 1™ lne 7 g

C. T- lymphocytes ‘ ‘ _
What is the function of the plasm mmune rt.!spunse?

There is no known ¢

-~ B. Natural pasmve immunity
D. Artificial active immunity

ises Iympll capillaries, lymph vessels, lymphoid masses

‘ st : B. Blood vascular system
.' system D. Immune system s
his a f rid in transit between interstitial fluids and:  Blooc! \
g }ﬁiood T §
D. Body fluid Lyepr (830

Klgulinge A olution, the sl potental o "’;;‘ e
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A 60-watt Iight bulb carries a current of 0.5 A, The totalicharge

in one hour is:
A.120C B. 1800 C

C.3600 C D. 2400 C

Q.7 ln Ohm s Ilw, which ;ufetar remauu constant:

C. Fe ‘ D Ag
Q. 10 Which of the following causes production nl'heal when current is set up in the wlre"
A. Inter atomic collisions
B. Collision of conduction'eleetrons with atoms
C. Inter electron collisions
D. Jumping‘efielectrons from higher orbits to lower orbits
Q.11 The diagram shows the eurrent I /yoltage V graph for a length of resistance wire.
Where can Ohm’s law be applied to the w |5e"

h ' V
A. ALY only B. At Z only
. C. From X 10Y D. From X to Z
E ccf trir. power is inversely proportional to

' B. Voltage
C. Current D. Temperature

' "certaln piece of silver of given mass is to be made like a wire. Which of the

Mlowing combination of length (L) and the area of cross-section will lead to the

smallest resistance? -

A.Land A

B. 2L and A2

C.LR2and2 A

D. Any of the above, because volume of silver remains same
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empemd on doing so.
‘A If only 1 is most appropriate -
C. If either 1 or IT is most appropriate
-‘E. ltbolhlmdllm MOst appropria

An unacceptable number of childg
incidence of infant deaths is a ?or ca

Courses of Action

L All gc:w:m'r:mé%mhunpnnls should be_

i dw% of their lives, The high
‘ cone the health ministry

vatized to improve health care facilities. .

hould commit* iugher levels of their budget to health services
A. If only Iis most@ppropriate B. If only II is most appropriate i
C. If eithend or'll is mostappropriate D. If neither I nor 11 is most appropriate .

11. Governme

E. lﬂ;fﬁih [ and IT"are most appropriate

Statement:

Tl}’if‘n,crcillm.n[_.Pakiﬂan's cricket team is likely to retire in the next three years leaving a
_;wac‘iﬁﬁ;-which the Pakistan cricket team is going to struggle to overcome.

"h(::_purscﬂif Action

w‘;!;‘ The PCB should start to induct youngsters into the team and start to give them

exposure to pressure situations.
II.  There should be a rotation policy adopted for senior players in order to prolong
their careers and keep them injury free.

A. If only I is most appropriate B. If only 11 is most appropriate

C. If either [ or I1 is most appropriate D. If neither I nor 11 is most appropnate g

E. If both I and 11 are most appropriate
k LOGICAL REASONING MDCAT A+-SERIES TOPIC-4




1 / 110 18 [ 100 el
'
| rc b
\i Nro! -
ML L C MOSL ]
i
@
il = [ [] i [l { 1L LIL ]
*Nne 1 also do th T
Eer ] 1a ae 2 1ne 1al alg Ol pll -
i T onl i
n ] S . 3 -
! e IT &
\ en
1 1 tor the Sindh gover [N \ - ne JIT
| \
i Al C Wi Y I L]
! 1
> A SETIIT f MY i | .
) ) 1 i i =il







L oe TG R R
ENGLISH MDCAT

TEST-7 (A+ SERIES)
TOPICS:
VOICE AND VOUABULARY (T6-100)
Directions:

Choose the Correct Volee
Q.1 After driving Professor Jones to the museum, she dropped him at his hotel.

A Afler being driven 10 the museum, Professor Jones was dropped ai his hotel.

B, Professor Jones was being driven dropped at his hotel )
C. After she had driven Professor Jones to the museum, she had dropped him at his hotel

. After she was driven Professor Jones to the museum, she had dropped him at his hotel,

Q2 | remember my sister tuking me to the museum.
A | remember | was taken to the museum by my sister.
B 1 remember being taken to the muscum by my sister
C | remember mysclf being taken to the museum by my sister

. | remember taken to the museum by my sister
Q3 Wha is creating this mess? A
B. By whom has this !

e
_D<By whom 1s this mess be

A. Who has been created this mess”

C. By whom this mess is being created?
Q4 They greet me cheerfully every morning,

A. Every moming | was greeted cheerfully,

B Tam greeted cheerfully by them every moming.

C. | am being greeted cheerfully by them every moming.

D. Cheerful greeting is done by them every moming to me.
Qs Darjecling grows tea,

A Tea is being grown in Darjeeling,

€ Teais grown in Darjeeling,

Q6 They have built a perfect dam across the
A Across the river a perfect dam wasbuil.
B A perfect dam has been built by them across the
C. A perfect dam should have been built by them.
D. Across the river was a perfect dam.
Q.7 Do you imitate others?

A. Arc others being imitated by you?

C. Have others being imitated by you?
QS8 You need to clean your shoes pro

re others imitated by you?
others being imitated by you?

ou are needed to clean your shoes properly.

our shoes are needed by you 1o clean properly.

Q.o
B. Was her duty done by her?

D. Was the duty being done by her?

Q.10

lne read out by the illwigilrluf.
ad out by the invigilator.

K1 g s
y 'd with quite safely. B. These kittens can play with you quite safely.
ayed with you quite safely. D- These kittens can be played with quite safely.
ot have done this mischief. e
is mi could not be done by a child, B. This mischief cou

mischief cocld not have been done by achild. 1. This mischief a
att discovered the cnergy of steam.

A. The energy of steam has been discovered James Watt.
B. The energy of steam was discovered by James Watt.

. James Watt was discovered by the energy of steam.
D. James Watt had discovered energy by the steam,

Q.14 She makes cakes every Sunday.

«A. Every Sunday cakes made by her. B. Cakes make he
___C.Cakes are made by her every Sunday. D. Cakes were ma
Q.15 Work hard.,
A. Let the work be hard. B. Work be hard.
C. Let you work be hard. D You are advise
Q.16 to the official on duty.

The official on duty was spoken 10 by her. B. The official w
C. She was spoken to by the official on duty. D. She was the ¢
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